a@ < Solve these addition and subtraction calculations. Show your working out.

1675 - 824 =

851

7658 + 2194 =

9852

8712 - 3769 =

4943

12,603 - 4778 =

26,873 + 76,031 =

143,872 + 387,105 =

7825 102,904 530,977
Use formal column addition and subtraction to solve these calculations. ‘P- ?
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Solve as many of these problems mentally as you can. Colour in the star each time you
solve a problem in your head.

76 +9=_85 Y% | |150+40=190 ¢ | 1360-22=338 s% | |700-85 = 615

648 - 22 = 626 754 + 55 = 809 % | |86-34= 52 S| 150+ 160=310 &

w
500-120= 380 Yy | |1100+572=1672 <) | |276-52= 224 S | 12500 + 600=3100 <«
700 +900=1600 ¢

4444 -4321 = 123 ¢ | |2000-550=1450 Yy | [95+27 =122 w

10,000 - 3500 =6500{; 12,000 + 8500 =zu,sno{:iv 7700 + 386 = 8086 {3 9422 - 500 = 8922 1’){

54,600 + 12,000 = 66,600 7{1( 76,900 - 31,500 = 45,400 7&; 125,000 + 17,000 =142.000 72(

Solve this + 50 120 12 5000 640 95
addition grid.
Only write down 99 149 219 111 5099 739 194
answers that you 275 325 395 287 5275 915 370
can work out
3111 3161 3231 3123 8111 3751 3206

10,100 10,150 10,220 10,112 15,100 10,740 10,195

15,400 15,450 15,520 15,412 20,400 16,040 15,495




